5.3 Solving Trig Equations Practice Worksheet #1 . Name:
\ Pre-caiculus Date: Block:
Solve for the unknown variable on the interval 0 < x <27 . _
1 4cos’x =3=0 2. v/2sin2x =1 3, 3cot’x-1=0
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Solve for the unknown variable on the given interval. ‘ ? y
9. v/3 + tan(2x) = 0 on [0,277). 10. cos(m) = 0.5 on [0,2). 11. sm( 2) ~1=0on [0,87).
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5.3 Solving Trig Equations — Worksheet #2

Pre-calculus
Part 1: Solve for the unknown variable, Give all of the exact general solutions.

3, tanf =1
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4, 1+sinf =2cos* 6
Cos 6 ws b ) 2y
........................... SIS

o & = 3 U et
- o el t -
C{;gé}' =03 ?_eéf;}s{_}-f e - . ﬁmt“
(\{9~ ™ 1

Tdgim & = & eSO

- i By 3 (] <A . e
o é - “‘f}';r’f :9.1’7*‘”\’, |

PPN S S
(Rsom b =t Ym0 ) 7Y
& = v}ﬁw’-‘i??v’\
G = ii:"g\dr}!"f” /

£ gf:y!- i \
e

L
LoaB T g

o,
o gk 1T

: &

A e
7 AT oy

b

+ 4 Th
it ﬂ
9. 2sin’@-sin@—-1=0

8. cos26 =Y
@bf\@ ¢ (e~ =0

™
AT

G

i osmapmnrart®

7. sin?f-1=0
({N’”"é"%i\}(<ﬂ6"‘$\ 5 l:}

- TP .'\'_:

g'l"/\\'{i\': -4 Sr?‘f;\’-m %
b T

10. tandfg = -1 11, tan®3x =3
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Part 2: Solve by approximating the solutions on the interval [0,2m).

13. 2¢in’ x+3sinx+1=0 14, 4sin’ x =2cosx +1

15, cscx+cotx =1
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Part 3: Use the calculator’s inverse trig functions to approximate the solutions. Remember that you must also find the
other solution by either adding i, subtracting the value from r, or subtracting the value from 2m.

18, tanf =4

19, cos = 0.84 20. sin@ = 0.63






